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MAEC-05
December - Examination 2018
M.A. (Final) Economics Examination
International Economics
Paper - MAEC-05
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 8§xX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT e 30 ereal H IRHAHT DRI Idien ue
2 37l T ¢l

1) Give the answers of the following questions:

feferRad U9t & Ik SRR |
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(i) Define offer curve.

IR eh T GRATRT HIFTT

(i) What is the “Labour theory of value”?
"5 Pl oo RAgia’’ T g ?

(iii) What is the MRT,,?
“MRT,” &1 g ?

(iv) What do you mean by “Immisensing growth”?

HAYeRT iy’ | 31T AT A § 2

(v) Define specific tariff.

"'faferse uge’’ 1 URWINT HIv|

(vi) Define Dumping.
“Dumping” @I aR9IRYT FHifsTul

(vii) What do you mean by Import Quotas?
JITATT 31T | 31T T AT & 2

(viii) Define Euro-Currency market.

JRI-HT TSR D1 IRATYT I

Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.

yus -
(oTg ST Ue)

fAder: gl aR UeAl & IR VI 3T W ITR Bl 31ferdaq

200 gregi § uRAIfia HIST| s 9T 8 3t a1 gl
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Briefly explain the Ricardo’s theory of comparative cost
advantage.

Reprel & qerTcred oTrTd v Rigid & fered aren Hifi|

What are the reasons for secular deterioration of terms of
trade?

IR hI oraf & FRTEE B DR BT Tgse Hifvu|

Does international trade is possible in the case of constant
opportunity cost? Give the reasons for the same.
T fRR 3aR AT Dl G H ARSI IR A9 § 2 BRI

Afed FUse Iy

How can one measure the rate of optimum tariff through the
elasticity of offer curve ?

3T geh Dl A P GRT, ATRHeITH Ued Dl & DI fhT TBR
7T ST T g ?

Distinguish between Static and Dynamic gains from trade.

IR ooy UTed Tfid Ta Urdfies ot & e faue Tuse
P

Discuss the benefits of economic integration.

3Mfefeh ThIANUT &b oATHT I FUSE HIFTT|

What is the justification of protection in the LDC’s?
- fIpRyd e |, TAREUETE HY ~IR—IGTIAT Pl a9 |

What are the instruments of foreign exchange?

faeeft faff & Suawur - J 82

MAEC-05 / 500 / 4 (3) (P.T.0)



151

Section-C 2X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

Qus - |
(e TR ¥ed)
fAder : el Q1 Uel & IR SRTI 3T 3o ITR B 3fErepead 500
gegl B gRAfIT HITTI URdd T 16 3l P &

10) Explain Meade’s approach to general equilibrium production,
consumption and trade.

HIg &, AT A b IUGH, SUHIN & AUR GISCHIU P
a‘{ﬂﬂ G I

11) Briefly explain the role of WTO.
f9g IR HTST Dl {HepT DT HAH FRAT HIVTUI

12) Distinguish between the trade diversion and trade creation

effects of a Custom Union.
I 9 b IR G gRad T IR Foi- THIE H 3R I
EﬁneﬂQI
13) Explain the H-O theory of international trade.
RIS TR i var.31 Rigra &l aaream ST
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